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 ينصح بإعطاء الصيغ الحرفية قبل إنجاز التطبيقات العددية:ملحوظة 

  )نقط7 (:الكيمياء

1� J���
m(:��8�9א���7א4�5��6 1,6g=����;א�<�
�=4����III،�2 4 3(S)Fe (SO �/�،(S)�GHIJ	�DEF����B�Cل���@?�(
V 100mL=K� �

1� J1� J����;א�<�
��9��د���ذو,�ن�4=�

��M�N�Oא��Lل�א�IIIDELא4	
��EنKF�1،�و�א� �
1� J2� Jذ�R.א��Sא:H���?א����T�4Uא���Vو��KF�1ن�E� �
2� Jل��Lא�:R.)�(S)��@א�����W
�
�0mو�(�����F�XN�G�/� HMא;����4 196mg=���	و����&�ز� ����،��	��(����Wא�
�Fل،�,

<�)��Y��T�Hא�� ZR2א���ن�א��[ل���Lن�א���\M+�]J^)�،�	���2

(aq)Fe 
���7�Xن�א+Rو�א�<�)��Y��T�Hא����E�3

(aq)Fe +K� �
�?-�?@��Hل�א����F
��د���א�
�X��Dא�	H:ج�_:א�א���W3 2

(aq) (S) (aq)2Fe Fe 3Fe+ ++ →� �
2� J1� J��@�8א;����א����<^��X

�����H4�9د&�א�Jא�KF�1ن�E� �
2� J2� J�Lא�D��X
��Hل�א�cول�א���J�،�?XNد�א�
�bم�א�CEa2و�א�
��,�KF�2,5ن�E� �
2� J3� J��@�W	�8א;����א�����HIH���&א��د�<��H4�O
	
��EنKF�0,75א� �
2� J4� Jل��L�8א���@��Hאع�א����)Y����@�W	א������א��T�4אU�9א�
Jא�KF0,75ن�E� �

?e�)W�1 1 1M(Fe) 56 g.mol ; M(S) 32 g.mol ; M(O) 16 g.mol− − −= = =� �
  )نقطة13 (:الفيزياء

  )نقط6 (:التمرين الأول
� �
)�I
���f����=
�)AB�W
�
4m 0,5kg=�_�gو��L 18,5cm=و�אن����� ��,�a�

��Bل��J�( )∆�W/ g���� h�?b/��AK� �

��FH�����
	��,��f���)�Tم����Eaא� )∆�-��W21
J mL

3∆ =� �

�i�T)0א����T,��fאو�� 60θ = ��K������lf+�אز(��Wא�

j�k0�، b �-��,�ون�� ���,�@��° �
:R.)و����HW��<�4��
Jmא�=
�)g 10 N / kg=K� � �

1� J�9�N�k
c�����)א������a�eא��n� �+�o���p���k����8KF�1ن�E� �
2� Jא�������?b/2א���
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m

mL L
E g(1 cos )
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ω = + − θ 
 
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  )نقط7 (:التمرين الثاني
:R.)�4>�و���
Jmא�l�|�DHW)g 10 N / kg=K� �

c���h�9�N�k
1(S )���
1m،�ذ{�4 100g=אو��T,�D@�����

��C���y�T	ن����،30α = °�p����H4�،?b/2א�o~�����
	��,�
D���Kא� �

k
cא� DN�)1(S )9�N� k
��2(S )�G
�
4�

2m 200g=���
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���
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cא�y�e	�/�1(S )�eb	א�����O���@�,��� ون���,�
�����

 ���A]��א�	�8�DE��1t�ebא���,AV�KlZ)�WOA L=� �

1� Jن������ybv�2 1m m sin> α�F�K0,5ن�E� �
2� Jp
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cא�C���o�6א��Wb�e��u�2א�(S )���m�,�2L ; g ; mو�AVKF1ن�E� �

3� J�a^�
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A

1 2

2g L(m m sin )
V

m m

− α=
+
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Jא��AV�K�?e�)�WL 1,6m=K��F�1,5ن�E� �
4� J���wF�81א��tk
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��م�� �	+�C
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